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Monochromatic light shines on a pair of identical glass microscope slides
that form a very narrow wedge. The top surface of the upper slide and the
bottom surface of the lower slide have special coatings on them so that
they reflect no light. The inner two surfaces (A and B) have nonzero re-
ﬂectmtws. A top view of the shdes Iooks like o




Consider two identical microscope slides in air illuminated with mono-
chromatic light. The bottom slide is rotated (counterclockwise about the
point of contact in the side view) so that the wedge angle gets a bit small- -
er. What happens to the fringes?

1. They are spaced farther apart.
2. They are spaced closer together.
3. They don’t change.







An interference pattern is formed on a

screen by shining a planar wave on a dou-
“ble-slit arrangement (left). If we cover one
slit with a glass plate (right), the phases of

-the two emerging waves will be different be-

cause the wavelength is shorter in glass than
in air. If the phase difference is 180°, how is

@/

the interference pattern, shown left, altered? -

double slit - interference pattern : double slit
planar wave

The pattern vanishes. |

The bright spots lie closer together
The bright spots are farther apart.
There are no changes.

: Brlght and dark spots are mterchanged

planar wave

glass shde
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